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SN HEENBSD
HE: OS2SR, IS N L (ASK SH(MSX/EF - HSL0L)

Sl HAEH FX (B9 ®R)
- RE]
S - BB () - HEAY - BES Ol At o ﬁ}lgﬁ HRE2
"YHESoRE BASY
70,000& *x15Y 33| 3,150
-ZSAl NIQUESHH =RAJg S8
70,000& 10 *33| 2,100
- ARSIEA ZERARE 2=E
70,000 x 15 x23| 2,100
O5. 34| 4,620
EEY ADET AZAZLX 24
7, OOO% Hx11x128 4,620
02 232%H4| 660 0 660
O3. A& & H|l S XYl 660
—OFA O A RY ORNE HAacte) S
2l Hl 55,000& x12& 660
202 o4 | 5,400 5,400 0
01 2Ll 5,400 5,400 0
OAdAEM JR2E=X0H|
60,000& *5H *3 *63| 5,400
301 et A= 10,408 10,408 0]
08B MBI ER2IBAZ 1,848 1,848 0
OMS=22RE ZAIHl 7,000&*1H«22 x12& 1,848
09 HAIAHI BEAZ 8,560 8,560 0
Os88Hs HAXNEX S2nsHa X o4d]
60,0008 30 x2! 3,600
OAEdNMIHE HEXHT HEF =4
7,000 x80H «23] 1,120
OWHEZEZAl AMUNMEHZX &S|
10,000& *32H x123] 3,840
307 2izto| A 144,100 232,500 A 88,400
11T AISIEXAIEEX 144,100 232,500 A 88,400
02040 £& 4 e ¥5u=s
9,000,000& 9,000
Oxs x2st WA 3,600,000 3,600
OIS JIEHZY 2003 5,000,000& 5,000
OX<=x=011 &Note S8 4 MESOE
2,000,000& 2,000
OsMs 28 2l 1= 2,700,000& 2,700
OWH0 i=st OIEUR 223 2t=D|
3,200,000 3,200
OXFMYLMEH 29 30,000,000 30,000
OXNYYLESH FAXNIFALY 65,000,000 65,000
OUiMeoled sSgtd3 XA 20,000,000 20,000
OWHEEH HdolXd sans 3,600,000 3,600
OEEH X& 19,700 21,100 A 1,400
201 LBt | 3,900 3,900 0




HE XY 2 HESA A (MESX/E2S - IIER0d)

0

Sl HAEH FX CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AFR2 22l Yl 3,900 3,900 0
O1.dBtx=2H| 900
SEEA A 4AF I HE 900,000& 900
O6.9x =z 3,000
~HE0E ¥ ] HANKE Xt
500,000& *2CH *33] 3,000
301 dEtE A= 1,200 1,200 0
09 HAIAHI EA= 1,200 1,200 0
O &8s EA 0 60,000& x20H 1,200
307 QI2t0| M 14,600 16,000 A 1,400
11T A SEXAIEE X 14,600 16,000 A 1,400
OWYHM 25213 2,000,000& 2,000
ON#=0IIHHI0I At XA 12,600,000& 12,600
MYUHABHXNE2IS (HAM2LSIIHEH2HE )<BX> 407,695 429,700 N 22,005
= 302,288
& 30,272
Al 75,135
307 QI2t0| ™ 407,695 429,700 N 22,005
= 302,288
& 30,272
Al 75,135
11 A SEXNAEE X 407,695 429,700 N 22,005
OAdMzdatII&dEH 2SS XA 407,695,000 407,695
= 302,288
& 30,272
Al 75,135
HYQIEIEHH JsEA<EX> 60,000 0 60,000
T 18,000
Al 42,000
402 Q2+ X2 0| & 60,000 0 60,000
T 18,000
Al 42,000
02 DIZFXI2AIE E X (OIS THE ) 60,000 0 60,000
OYoEIfeMY JIsE2d 60,000,000 60,000
& 18,000
Al 42,000
AHEHES FA 29 27,800 30,810 A 3,010
201 et A | 800 810 A 10
03 S ALS H I 800 810 A 10
OLgdBES=2F A 800,000& 800
307 QI2t0| ™ 27,000 30,000 A 3,000
11 A EXNAEE X 27,000 30,000 A 3,000
OLdHdHSF2E JIEHA 27,000,000& 27,000
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OtsE=, Jt& X& & (AMISX/ES - It oHd)
CREETE e (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HAECH nF A 13,200 9,000 4,200
201 £B-2d| 10,000 4,200 5,800
01 At 22l 1,000 0 1,000
O1.¢e=2H 1,000
-2 ¥ 1,000,000 1,000
03 A2 S HI 9,000 4,200 4,800
OW&EH nx 9,000, 000& 9,000
301 et d = 3,200 4,800 A 1,600
09 SArAHI 2 & 3,200 4,800 A 1,600
OWEEH LWERAY b 048l
20,0003 *80H 23| 3,200
OEEN 2 HMLIA 22,000 22,000 0
202 O4dl 2,000 2,000 0
03 =220l 2,000 2,000 0
OWgHHd SMu: S& ol
2,000,000& x1H 2,000
307 gl2tol & 20,000 20,000 0
11 AR S XA 20,000 20,000 0
o4 etH = F gl 1,000,000 x20H 20,000
HEQANLHH2E<ER 220,000 198,000 22,000
< 188,000
Al 32,000
307 g1+l & 220,000 198,000 22,000
< 188,000
Al 32,000
10 AtSI = XAl & 220,000 198,000 22,000
Ol =i 220,000,000 220,000
< 188,000
Al 32,000
F2I2 HHH<E 50,000 48,000 2,000
< 25,000
Al 25,000
307 21201 A 50,000 48,000 2,000
< 25,000
Al 25,000
04 QIZFHALAIH B = 50,000 48,000 2,000
OZgF2Ite HHA 50,000,000& 50,000
< 25,000
Al 25,000
HEXNE 6,488,295 6,003,045 485,250
= 1,753,990
J| 1,774,944
< 862,617




2N

HdsaEx]
=

HM: Ol=EE, JIIE XY L HE=EX S (MIEXN/ES - IHELAHA)
el JIERR CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 2,096,744
I E5 & 2X &ka 81,660 170,620 A 88,960
201 B9 1,000 72,000 AT71,000
01 AP 22| H| 1,000 72,000 A 71,000
O6.9x2 1,000
-JHEolY D18 SelA EAXF HA 2 Xt
1,000,000 1,000
301 et A= 67,520 84,020 A 16,500
01 Al B & A 462 62,900 79,400 A 16,500
Oste2IIE EXNAMNE(ZS2 ) 22
60,000 *30Al CH *33] 5,400
Ost22IIE SXAE 84N NEHE2
5,000,000 *8Al CH 40,000
OstER2Jl= = - D st =Y
250,000& 70H 17,500
09 HAIAHIBEAZ 4,620 4,620 0
QetER2IIE EXAIE SAA B=s0H|
60,000 *3H 3 540
OSESS SH22ItE 223 &4 01|
60,0003 2% 22 %17 Ml CH 4,080
307 2iztol A 13,140 14,600 A 1,460
11T A EXAIEEX 13,140 14,600 A 1,460
QetER2IIEXH HEAZ 22T T&
621,000 x10H 6,210
OOtES =2 Sgo & oigtHHQl
2,700,000& 2,700
OJIEZ8 2tEE= M-II=E 1,980,000 1,980
O=2HZE 49 oFES Y =X SANY
2,250,000 2,250
SHERIIS E2XAE2IG X A<BEX> 358,090 353,554 4,536
=} 64,530
Al 293,560
307 QI2t0| ™ 358,090 353,554 4,536
& 64,530
Al 293,560
10 AISIEXAIEEHE2IHIEX 358,090 353,554 4,536
OStEER2IIE=2XNAIE S XF 347,290,000 347,290
& 61,290
Al 286,000
OBEDNESNALYLT 24 L AT
4,500,000& 4,500
& 1,350
Al 3,150
OStE2INEEXN AL A MM oFAH =]
6,300,000& 6,300
& 1,890




SH: EENESD
HH: OS2SR, 5 X

o
Ha

' A =X o (ME=SX/ES - 220 )

el SN (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 4,410
StREEIIE SXNAE SALs=E<ED> 10,080 10,080 0
< 2,016
Al 8,064
307 gl2tol & 10,080 10,080 0
< 2,016
Al 8,064
10 ALl SXAIEEE2EH EX 10,080 10,080 0
OStREZINEEXNAE B
10,080, 000& 10,080
< 2,016
Al 8,064
AMa AAX o4 - X8 NE<E > 12,127 9,200 2,927
J| 6,064
< 1,819
Al 4,244
307 21201 A 12,127 9,200 2,927
J| 6,064
< 1,819
Al 4,244
11T ALS S RAEE = 12,127 9,200 2,927
OANH g4kt &g - IZXH 12,127,000& 12,127
J| 6,064
< 1,819
Al 4,244
SSHEIIFFE(MHYLU)=AX<E E> 33,600 33,600 0
J| 33,600
307 glz2+ol & 33,600 33,600 0
J| 33,600
10 ALSISXAIEEE2EH EX 33,600 33,600 0
OZSMHEINDHE(HLLU) =HAA
33,600,000& 33,600
J| 33,600
OlsSYsH N (SHR2IIEXN 2 )<EX> 1,023,000 882,800 140,200
J| 818,400
< 61,380
Al 143,220
301 et d s 1,023,000 882,800 140,200
J| 818,400
< 61,380
Al 143,220
01 MEI2EZE 05z 1,023,000 882,800 140,200
O0ts2=H X 1,023,000, 000& 1,023,000
J| 818,400
< 61,380
Al 143,220




2N

HEEMER

B

Hu: OISES, IS N L HAE=X S (AE=X SIIEY0A
el S (29l & 2)
- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
=Jl OIS SHl N (BHE2IIEXH)<E X> 7,800 0 7,800
J| 6,240
& 468
Al 1,092
301 LBt A= 7,800 0 7,800
Dl 6,240
= 468
Al 1,092
01 AR E & A 462 7,800 0 7,800
OFJt oksg=Hl XI& 7,800,000 7,800
J| 6,240
=} 468
Al 1,092
OlSNSH(ZEDM StIEH XK (SHERIIEX A )< 53,550 0 53,550
2x>
J| 42,840
= 3,213
Al 7,497
301 LBt A= 53,550 0 53,550
J| 42,840
= 3,213
Al 7,497
01 AISIE & A 452 53,550 0 53,550
OOt=2dEHI(E0M s2EH|) 53,550,000 53,550
J| 42,840
&< 3,213
Al 7,497
MEEXZ2 X (SHRE2IEXH )<BX> 2,400 0 2,400
J| 1,920
=) 144
Al 336
301 et A= 2,400 0 2,400
J| 1,920
S 144
Al 336
01 Al B & A 462 2,400 0 2,400
oMt xZ2 Nd 2,400,000 2,400
J| 1,920
< 144
Al 336
SHERIS X |<EX> 181,206 275,859 N 94,653
o 54,361
Al 126,845
301 et A= 181,206 275,859 AN 94,653
o= 54,361
Al 126,845
01 AISIE& A %52 181,206 275,859 N 94,653




SN HEENERD
Iu: OISES, IS N 2 HE=X BY(MASK/2S - HSL0E)

el JIEXH (22 &d)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
ORZIIETY Hetst= 80,000,000& 80,000
S 24,000
Al 56,000
OsR2IIENHH = K& 51,395,000& 51,395
= 15,418
Al 35,977
OBESINERNHUESSY SBUS SSHE
49,811,000& 49,811
= 14,943
Al 34,868
st22IIE g NE=<EX> 36,000 36,000 0
< 10,800
Al 25,200
301 €EtE o= 36,000 36,000 0
< 10,800
Al 25,200
01 AHBIEZ X 0= 36,000 36,000 0
OtRZ2IIE NHEXES 36,000,000 36,000
= 10,800
Al 25,200
SIRRIIE FSHSHIKEXE> 582,800 553,600 29,200
= 87,420
Al 495,380
301 AP B A 582,800 553, 600 29,200
= 87,420
Al 495,380
01 M2 X +0l= 582,800 553,600 29,200
OstR2IIE 833 aH 582,800,000 582,800
& 87,420
Al 495,380
OISUSHIXA(HAESE D)< E> 10,800 13,502 ~2,702
Jl 8,640
£ 648
Al 1,512
301 YptE A 10,800 13,502 A2,702
Jl 8,640
£ 648
Al 1,512
01 MBIEZH 0= 10,800 13,502 A2,702
Oo0ts2=Hl NI (F2HE=R2)
10,800,000 10,800
2l 8,640
< 648
Al 1,512
AP DHEOIL MEBOIEI<EE> 3,400 3,400 0
= 3,000
Al 400




2N HEdSAES]
=

HY: OIS2S, IS Y L GEST FA(MEZX/2] - HEL0HA)
ol JIEXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 3,400 3,400 0
< 3,000
Al 400
01 MEI2EZE 45z 3,400 3,400 0
OgZuloigniL Meermzg XA
3,400,000 3,400
< 3,000
Al 400
s 2E<EX> 5,000 5,000 0
< 1,500
Al 3,500
307 gl2tol & 5,000 5,000 0
< 1,500
Al 3,500
10 AL SXNAIEEE2EH EX 5,000 5,000 0
OZslld™ 2949 5,000,000& 5,000
< 1,500
Al 3,500
IIEESY Mg 2EXNA(SSAEL 2R )E 117,593 114,388 3,205
x>
J| 58,797
< 8,819
Al 49,977
307 gl2tol & 117,593 114,388 3,205
J| 58,797
< 8,819
Al 49,977
10 AL SXNAIEEE2EHEX 117,593 114,388 3,205
Osgdgs 29X 117,593, 000& 117,593
J| 58,797
< 8,819
Al 49,977
H=2 JIHES Adgs SNV (SEANTL 29 73,688 71,700 1,988
K& )<E x>
J| 36,844
< 5,526
Al 31,318
307 gl2tol & 73,688 71,700 1,988
J| 36,844
< 5,526
Al 31,318
10 AL SXNAIEEE2EHEX 73,688 71,700 1,988
Oy dEA 2EXH 73,688,000 73,688
J| 36,844
< 5,526
Al 31,318
NEESH M4YL 2HERNI_<ED> 221,070 215,100 5,970




AN GEdSUES

B

HM: Ol=EE, JIIE XY L HE=EX S (MIEXN/ES - IHELAHA)
Ch: JIEXL (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Pl 110,535
& 16,579
Al 93,956
307 2iz2to| A 221,070 215,100 5,970
J| 110,535
& 16,579
Al 93,956
10 MM SAANEEHESIHEX 221,070 215,100 5,970
OJE=ZH Adh 2 221,070,000& 221,070
J| 110,535
= 16,579
Al 93,956
IIEEZS ol A ESAIE 29 X2 E> 98,088 95,417 2,671
J| 68,662
=} 8,828
Al 20,598
307 QI2t0| & 98,088 95,417 2,671
J| 68,662
= 8,828
Al 20,598
10 Al EXANEEHE2IGH EX 98,088 95,417 2,671
O ZHIdl A ESAIE 2K
98,088,000 98,088
J| 68,662
o= 8,828
Al 20,598
AOHOHIIoH A X RAIE Y ASA 2H (A 0H0H I oH A+ 320,800 312,000 8,800
NEANE 2EXH)<EX>
J| 224,560
o=t 28,872
Al 67,368
307 2iz2to| & 320,800 312,000 8,800
J| 224,560
& 28,872
Al 67,368
10 MM SAANEEHESIGHEX 320,800 312,000 8,800
OSOHOHIIH KK RAIE 2 H X &
320,800,000& 320,800
J| 224,560
& 28,872
Al 67,368
AOHOHIIGH K KIRAIAE Y AStA 2 (4 0H0H I of A 149,900 145,500 4,400
A 2 )KEX>
J| 74,950
= 22,485
Al 52,465
307 QI2t0| & 149,900 145,500 4,400
J| 74,950




SH: EENESD
HH: OS2SR, 5 X

o
Ha

' A =X o (ME=SX/ES - 220 )

ol JIEXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 22,485
Al 52,465
10 ALSISXAIEEE2EHEX 149,900 145,500 4,400
OLOHOHOIH &S A 2SN 149,900, 000& 149,900
J| 74,950
< 22,485
Al 52,465
SOHOHEZX SIS (HUMMHEZ XS HIISA 83,154 81,440 1,714
2 2l )<EE>
J| 41,577
= 12,473
Al 29,104
307 glz2tol & 83,154 81,440 1,714
J| 41,577
< 12,473
Al 29,104
10 ALSISXAIEEE 22X 83,154 81,440 1,714
O4&MHEZX §FIIsZstAE 2|
83,154,000& 83,154
J| 41,577
< 12,473
Al 29,104
SIS ZX SE¥IIsT(HUMEZRNSEEIIsS 31,429 31,429 0
St OHE X&) <E x>
J| 22,000
= 2,829
Al 6,600
307 21201 A 31,429 31,429 0
J| 22,000
< 2,829
Al 6,600
11T AL SXAEE X 31,429 31,429 0
OHHHEZ XS A sZ3 HEX AL
31,429,000 31,429
J| 22,000
< 2,829
Al 6,600
SOHOHIIOH Ab R EXIJA<E E> 37,143 37,143 0
J| 26,000
= 3,343
Al 7,800
307 21201 A 37,143 37,143 0
J| 26,000
< 3,343
Al 7,800
11T AR S XA E =X 37,143 37,143 0
O&OHOHIIoH A R = XI& 37,143,000 37,143
J| 26,000




2N

HdsaEx]
=

HY: OIS2S, IS Y L GEST FA(MEZX/2] - HEL0HA)
el S (29l & 2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
= 3,343
Al 7,800
XN 2K <E > 36,000 36,000 0
== 10,800
Al 25,200
307 2Iz2t0| A 36,000 36,000 0
= 10,800
Al 25,200
10 MM SXANEEHESIGHEX 36,000 36,000 0]
O Xaadgds 249X 36,000,000 36,000
& 10,800
Al 25,200
JIAZE HoX X322 2 O 2H| X ( 15,660 12,144 3,516
JIEZ Tk 2 2H| KK )<EE>
D] 10,961
== 1,410
Al 3,289
307 2Iz2t0| & 15,660 12,144 3,516
Dl 10,961
c 1,410
Al 3,289
11T AISIEXAIEEX 15,660 12,144 3,516
OJFIEZHTol A A SH XA 15,660,000 15,660
J| 10,961
= 1,410
Al 3,289
HNEALIHA 2 2H|,2t8H XK (L&ZSTHK 92 15,316 15,316 0
H X &)<8xX>
J| 10,722
& 1,378
Al 3,216
307 2Iz2t0| A 15,316 15,316 0
Jl 10,722
o 1,378
Al 3,216
11 A EXAIEEX 15,316 15,316 0
Od=ZHT|oHA 22X 15,316,000 15,316
J| 10,722
= 1,378
Al 3,216
JIEZS ok X232 T2 L 9 2Hl X 25,714 25,714 0
JIEZS ok XI2se T2 29 )kEX>
J| 18,000
= 2,314
Al 5,400
307 212t0| & 25,714 25,714 0
J| 18,000
= 2,314




SN HEBNESD
Hu: OS2SR, IE X
ool JIEXE

o
Ha

' A =X o (ME=SX/ES - 220 )

L=
SA - FE - BR(EA) - NRAY - B S 0 &t il
Al 5,400
A SXAIEE X 25,714 25,714
OJJE=ZEUHA NEs=s2x2]82Y
25,714,000 25,714
Jl 18,000
=) 2,314
Al 5,400
JFEEH Jtoll At WEXZ=SEZ Y 2AEAEL> 27,000 27,000
Il 18,900
& 2,430
Al 5,670
307 21201 & 27,000 27,000
Jl 18,900
& 2,430
Al 5,670
A S XA E = 27,000 27,000
OXNEF=IIaiA nFXzs=2=208 29
27,000,000& 27,000
Il 18,900
< 2,430
Al 5,670
dEZS0oA XZ, =22 08<E x> 15,714 15,714
Il 11,000
=) 1,414
Al 3,300
307 21201 & 15,714 15,714
Il 11,000
< 1,414
Al 3,300
A S XA E X 15,714 15,714
Od=Zdnoi it IZISsZ2JH2H
15,714,000& 15,714
Il 11,000
=) 1,414
Al 3,300
AZY Dot DEXNSEZZNH 2AE > 21,320 21,320
Jl 14,924
=) 1,918
Al 4,478
307 21201 & 21,320 21,320
Il 14,924
< 1,918
Al 4,478
A S XA E X 21,320 21,320
O8=2Itoikt REANSL208 29
21,320,000& 21,320
Il 14,924
=) 1,918




0}5_._: JPf AN & Hd=X g4

?ILER A

(MBI EX/2=

2 S 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 4,478
AEZAENA H2AY, S2H 2, 2UH 2 XN (- 1,000 ,000 0
ZANH A SEHI 2 AH)BEE>
J| 1,000
307 QI2t0| ™ 1,000 ,000 0
J| 1,000
11T A EXAIEEX 1,000 ,000 0
OdZdIolA =sHIsSsX&A 1,000,000 1,000
J| 1,000
HAEZHUIHA 9 2H|,2t8H N (=TIl AH 2t 552 ,285 NT733
Hl X &)<E2 x>
J| 387
& 49
Al 116
307 gizto| A 552 ,285 ANT733
J| 387
& 49
Al 116
11T A EXAIEEX 552 ,285 ANT733
OMd=ZATIoHA 208Hl X& 552,000& 552
J| 387
= 49
Al 116
M ZATNA BESAE 29 N OJIE =0 o Xt 2,500 ,500 0
XNASAHY XR)<EBE>
J| 1,750
& 225
Al 525
307 2iztol A 2,500 ,500 0
J| 1,750
& 225
Al 525
11T A EXAIEEX 2,500 ,500 0
OJIEZS oA Mg=ad| 2,500,000& 2,500
J| 1,750
o= 225
Al 525
NI ZAETNA ESAE 29 N OJIE =20 o Xt 10,000 ,500 3,500
|2== XA HHl X &)<8 x>
J| 10,000
307 2iztol A 10,000 ,500 3,500
J| 10,000
10 MM SAANEEHESIGHEX 10,000 ,500 3,500
O =0l NESAE LAXNS Hx== X
A AHH X 10,000,000 10,000
J| 10,000
HEZH2UAAANESALN =S <EX> 63,840 ,840 0




SN EESES
Bu: OS2SR, IHE X
9l ISR (29l 8)

B

I
[0
He
2
0x
I
!
UL
0x
=
[
B
pa}
HT
H0
M
Ji
He
2
0x

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

H

12,768
Al 51,072

307 21201 & 63,840 63,840 0
12,768
Al 51,072

in

10 ALl S XA 8 &

008 == e

Mo
02
=
H
P

63,840 63,840 0

A Xb=E 63,840,000 63,840
12,768
Al 51,072

[
O

t

[=)
0x
J
Jy
e
v

S AE BAXL EF|S<ER> 4,800 4,800 0
Il 2,400
= 432
Al 1,968

301

e
s
HL
0z
oy
~

,800 4,800 0
,400

432
Al 1,968

Jl

N

H

09 BAMAEHIEAS 4,800 4,800 0
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FMN: HEdESMEFRD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
Shelr HEBA DAY CER-ED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
-E4EHaE § N JMUZROY FIAE=s
200,000& »12& 2,400
-BHnod Ald RXNE= 1,000, 000& 1,000
-ZE00lE Y RAES 25,000& «12& 300
03 A2 Z Hl 14,240 14,240 0
Os4tzei 2 m el 3,240,000& 3,240
Os4t&el 424 2Esl 1,000, 000& 1,000
Ogl=zo ¢ J1gal 10,000, 000& 10,000
202 o4dl 2,880 5,400 A 2,520
01 = LH o4 1l 2,880 5,400 A 2,520
OSLIIEXNH SR2FA NI
60,0003 *4H 3 43| 2,880
301 et 8= 12,100 12,100 0
09 HALAHIE& S 12,100 12,100 0
OS4tZe] HALKE SAX 24
7,000& 30 *6 2 1,260
Os&&E JIgao s 4L =4
7,000& 20 *6 2 840
OFOIESNAHE XA SALX AH24
10,0003 x4H 220 8,800
OMSHHM2S S ()AL A0
60,000& x20H 1,200
307 glz2tol & 14,000 17,800 A 3,800
11T M SXAISE EX 14,000 17,800 A 3,800
OFZ25F2 0legdd 2w #=
6,000,000& x13l 6,000
OOtttet Mot €2 Z 4,000,000 23! 8,000
&tz N 2,244,000 2,244,000 0
301 et a = 2,244,000 2,244,000 0
01 MEIBEE 2053 2,244,000 2,244,000 0
OsdtZedzs N 690,000
- T ot 100,000& »2,400H 240,000
-SUTH ot O & 1,000,000& »450H 450,000
SN0 AZEEZ N 1,404,000
20174 =40t 20,000 *1,4508 x601 & 174,000
2016 =40t 20,0003 *2,200H x 1204 & 528,000
2015 =M 0t 20,000& *2,200H « 1200 & 528,000
20142 =40t 20,0003 *1,450H 601 & 174,000
O4Z 014 OXHEIIE SE2LR &2
250,000& x600H 150,000
EUSOISZTLEANE2I<ED> 6,000 6,000 0
< 1,800
Al 4,200




2N
X ZH -
L= B

el

HdsaMER1
B -0s & SMEA(MIEN/ES - IIFL0HL)
MNEd AL

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 6,000 6,000 0
== 1,800
Al 4,200
01 AP 22| H| 6,000 6,000 0
O1.48t4=2H| 6,000
-S0IEEXNKHEH 0l2 HHE & S
6,000,000& 6,000
=} 1,800
Al 4,200
NESH2S 0] ZHAIE<E E2> 20,000 24,000 A4 ,000
= 4,000
Al 16,000
201 2Et2Hy| 19,400 23,400 A 4,000
& 3,880
Al 15,520
01 AP 2t 2] H| 16,400 18,400 A 2,000
O1.298t=2H| 16,400
SHEM2E FRANL B
16,400,000& 16,400
= 3,280
Al 13,120
03 A2 G HI 3,000 5,000 A 2,000
O o] ZHH QI & AMH| 3,000,000& 3,000
& 600
Al 2,400
301 et A= 600 600 0
& 120
Al 480
09 HAIAHIBEAZ 600 600 0
OMELIZAH O AT 2HA
3,000 200H 600
& 120
Al 480
SMOIOIMSAHAS X I<E > 1,824,000 1,734,000 90,000
< 457,200
Al 1,366,800
301 et A= 1,824,000 1,734,000 90,000
& 457,200
Al 1,366,800
01 Al E& A 462 1,824,000 1,734,000 90,000
OZMot ola satdHAZ2 XA
50,000 x3,040H «12& 1,824,000
= 457,200
Al 1,366,800
HMOF SALE A2 KS<E E> 251,000 0 251,000
& 75,300
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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
09 HALAHIEA S 2,960 2,960 0
ONgod Esndd NS 0l
20,0003 30 *43| 2,400
ONeolEHEs L& 3 =S4
7,000& x20H *43| 560
NJIEEd=s 18,000 18,000 0
oogold Eitels X 300,000 60K £ 18,000
307 21201 A 1,218,038 1,336,924 A 118,886
05 RIZt2lEt = 544,718 531,224 13,494
OANENHE0IE 29 301,000, 000& 301,000
O=38 "o Helold HE=AY
10,000,000& «3H £ 30,000
OFOIZEANAEH 29 180,000, 000& 180,000
ONeglold M A OHA 33,718
-Jlg=a 60,0003 «7H 62 «12& 30,240
-2 & RU&EHl 30,240,000 *11.5% 3,478
10 AL SXNAIEEE2EH EX 66,000 325,800 A 259,800
OFASUHE MEHRO0IE HH X
1,200,000 *4H 2~ 4,800
OUEOIE 2A=220 ZA==E
1,200,000& 27 JH 2~ 32,400
O2A=20 S43 Helold (Lot ,M7) 2 A=
g 1,200,000 »2H 123 28,800
11 ALS S XAEE = 607,320 479,900 127,420
ONgold Esnd 328K
12,000, 000& 12,000
ONgols EsnXE HALIALE S22
1,350,000 24X x30/100 9,720
OUE0lE LsZEH A X2 2,000,000& 2,000
ONeold &= AHE SN
3,500&%10,800H x12& 453,600
O0eold XIFAsl etd 2 3HH &l
260,000 *5000H 2~ 130,000
FRESS<ER> 57,330,321 55,908,027 1,422,294
= 42,997,741
< 10,032,806
Al 4,299,774
301 et d = 57,330,321 55,908,027 1,422,294
= 42,997,741
< 10,032,806
Al 4,299,774
01 MEI2EZE+05l= 57,330,321 55,908,027 1,422,294
ogsotEsg XN& 57,330,321,000& 57,330,321
= 42,997,741
< 10,032,806
Al 4,299,774
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A HEaSMEFD
H: B - 0ls 2 SMEH(MNIEX/ES - IISLHA)
Sl BREM FX (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
I AR <EB x> 17,066,786 16,900,000 166,786
= 12,800,090
& 2,986,687
Al 1,280,009
301 LBt A= 17,066,786 16,900,000 166,786
= 12,800,090
= 2,986,687
Al 1,280,009
01 AR E & A 462 17,066,786 16,900,000 166,786
OJNesd=r= N3 17,066,786,000 17,066,786
= 12,800,090
=} 2,986,687
Al 1,280,009
22820l &<E X> 840,000 866,460 N 26,460
= 504,000
& 100,800
Al 235,200
307 giztol A 840,000 866,460 N 26,460
= 504,000
& 100,800
Al 235,200
10 MM SAANEEHESIGHEX 840,000 866,460 A 26,460
O2380oeold XA 840,000,000& 840,000
= 504,000
== 100,800
Al 235,200
AMZXNESEEEF X A<E X> 89,698 62,400 27,298
=2 44,849
o= 13,454
Al 31,395
307 212t0| & 89,698 62,400 27,298
=2 44,849
o= 13,454
Al 31,395
10 M SXNANEEHESIHEX 89,698 62,400 27,298
OANMUAXSEEEXNE 89,698,000 89,698
=2 44,849
& 13,454
Al 31,395
Sl E<E x> 18,798,000 18,798,000 0
& 18,798,000
301 et A= 18,798,000 18,798,000 0
= 18,798,000
01 Al B & A 462 18,798,000 18,798,000 0
OFcld I (BEg2 ,829H,24dx&)
18,798,000, 000 18,798,000
& 18,798,000
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2N
X ZH -
L= B

el

G ELBSD
HE S U BA4FA(MSZN/EE - NEL0L)
tl.g.x-li“ = X|
4 (= I

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SYEESB<EE> 98,400 98,400 0
= 63,960
Al 34,440
301 gt d= 98,400 98,400 0
< 63,960
Al 34,440
01 Ml2ZHE 6= 98,400 98,400 0
ognz=Eszs XA 98,400,000& 98,400
< 63,960
Al 34,440
ESUAASH I I<EE> 6,289,860 6,289,624 236
< 730,160
Al 5,559,700
301 et a = 6,289,860 6,289,624 236
< 730,160
Al 5,559,700
01 MEIBEE 2053 6,289,860 6,289,624 236
OEsuidd =& K& 6,289,860,000& 6,289,860
< 730,160
Al 5,559,700
ZOIERNHMISE =L A<EL> 134,220 125,803 8,417
= 26,844
Al 107,376
301 et A3 134,220 125,803 8,417
= 26,844
Al 107,376
01 MI28E+06l= 134,220 125,803 8,417
OBNOIZS DA SELYX R
134,220,000& 134,220
= 26,844
Al 107,376
EF0ls AHIKE=XR> 2,471,495 2,442,556 28,939
< 536,031
Al 1,935,464
307 21201 A 2,471,495 2,442,556 28,939
< 536,031
Al 1,935,464
10 ALSISXAIEEER2IHEX 2,471,495 2,442,556 28,939
Es0ts 2tA| 2,471,495,000& 2,471,495
< 536,031
Al 1,935,464
01201y XHERAH<EX> 162,575 161,965 610
< 24,000
Al 138,575
307 gl2tol & 162,575 161,965 610
< 24,000

_36_




2N
X ZH -
L= B

el

G ELBSD
HE S U BA4FA(MSZN/EE - NEL0L)
tl.g.x-li“ = X|
4 (= I

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 138,575
10 ALSISXAIEEE 22X 162,575 161,965 610
OORIOIT XS bl 162,575,000 162,575
= 24,000
Al 138,575
EF0ts 0 ZIIZTHI<EB=E> 2,467 3,467 A 1,000
< 740
Al 1,727
301 et a3z 2,467 3,467 A 1,000
< 740
Al 1,727
01 AR 2Z A 53 2,467 3,467 A 1,000
ORSOISHOZEIIZEH XY 2,467,0002 2,467
< 740
Al 1,727
CtE23t0 80l s HE2FHI<EX> 79,030 76,602 2,428
= 23,709
Al 55,321
307 glz2tol & 79,030 76,602 2,428
< 23,709
Al 55,321
10 AL SXAIEEE2EHEX 79,030 76,602 2,428
ou2stoolE Ay
79,030,000 79,030
< 23,709
Al 55,321
HZOOtsHe 0l earz<EXR> 20,600 22,600 A 2,000
< 6,180
Al 14,420
307 21201 A 20,600 22,600 A 2,000
< 6,180
Al 14,420
10 AL SXAIEEE2EHEX 20,600 22,600 A 2,000
OXFMotsHelold 245 XI& 20,600,000 20,600
< 6,180
Al 14,420
ZOHOIME U0l JIAtQIAHI<KE E> 57,600 57,600 0
< 17,141
Al 40,459
307 glz2+ol & 57,600 57,600 0
< 17,141
Al 40,459
10 ALSISXAIEEE2EH EX 57,600 57,600 0
OZOHOIMENO0IE JIAtI A8l XI&
57,600,000& 57,600
< 17,141
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FMN: HEdESMEFRD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
Sl BREM FX CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
| Al 40,459
ol et™BRHal<E > 39,130 40,078 A 948
< 11,739
Al 27,391
307 gl2tol & 39,130 40,078 A 948
< 11,739
Al 27,391
06 283 39,130 40,078 A 948
O oldetd S H &l 39,130,000& 39,130
< 11,739
Al 27,391
FHLETN22H<E > 70,000 70,000 0
< 7,000
Al 63,000
307 glz2tol & 70,000 70,000 0
< 7,000
Al 63,000
05 RIZt2E = 70,000 70,000 0
OFHZEM2 28 N& 70,000,000& 70,000
< 7,000
Al 63,000
HeolgaZid(oeold Jised)<Ex> 89,482 100,000 A 10,518
- 44,741
< 13,423
Al 31,318
402 RI2HXt20l ™ 89,482 100,000 210,518
= 44,741
= 13,423
Al 31,318
02 It 2 AL EZ (01X TH ) 89,482 100,000 A~ 10,518
OEold S#AML(0E0EISEL)
89,482,000 89,482
= 44,741
< 13,423
Al 31,318
ofglold X= 11,680 11,680 0
201 Let24d] 5,520 5,520 0
01 At 2teltl 5,520 5,520 0
O1.det=2H| 3,000
-BESNE Lot ZH| 2,000,000& 2,000
-22 2UHE 2S20M =2
500& *2,000% 1,000
O5.=2 &l 7,0003 3 +10L 128 2,520
202 O4dl 5,040 5,040 0
01 =S LHA YI 5,040 5,040 0
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FMN: HEdESMEFRD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
ohelr BRI £ CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OESINEURHER 2= 04l
60,0003 *3H 3 63| 3,240
OA=XNFAZ WXES o
60,0003 *3H x5 +23| 1,800
301 gt L= 1,120 1,120 0
09 SALAHIEAS 1,120 1,120 0
OSSHBTEZA HBZAL B4
7,000& »20H 5 700
OOlS& oY % DS 319 HAX A
7,000& x20H +33] 420
F2 ZUHEH 2E<EX> 26,650 19,002 7,558
= 13,325
< 3,994
Al 9,331
301 et A3z 26,650 19,002 7,558
= 13,325
< 3,994
Al 9,331
1MIIEBESS 26,650 19,092 7,558
22 2UHEH2E N 26,650,000 26,650
= 13,325
< 3,994
Al 9,331
Hel0ldedLdl X3A<E x> 160,000 163,000 A 3,000
< 47,350
Al 112,650
307 glz2+ol & 160,000 163,000 A 3,000
< 47,350
Al 112,650
10 ALSISXAIEEE2EH EX 160,000 163,000 A 3,000
oolgoldagiisdl X& 160,000, 000& 160,000
< 47,350
Al 112,650
SIS ANIHAH2IE<EB 2> 20,000 20,000 0
= 10,000
< 3,000
Al 7,000
307 21201 A 20,000 20,000 0
= 10,000
< 3,000
Al 7,000
05 RIZt2IEt = 20,000 20,000 0
OSOZTEXNAMEH 23 LE NA)
20,000,000& 20,000
= 10,000
< 3,000
Al 7,000

_39_




FA HESMHESD

HH: 2505 U BATAMIZX/2S - HEL0H)

ool EREM XX (S5 &)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
S oA XN (B AAH 24| 6,985,872 7,191,989 A 206,117
A& )<E x>

= 4,191,524
< 1,956,042
Al 838,306
307 21201 A 6,985,872 7,191,989 A 206,117
= 4,191,524
< 1,956,042
Al 838,306
10 ALSISXAIEEE2GHEX 6,985,872 7,191,989 A 206,117
O=232ggooeod XA 3,373,011,000& 3,373,011
= 2,023,808
= 944,441
Al 404,762
oZgordgogold X 134,518,000& 134,518
= 80,710
= 37,665
Al 16,143
OOt Z &0l &E 2,345,561,000& 2,345,561
= 1,407,337
= 656,757
Al 281,467
OAIZIAZE WAL 972,573,000& 972,573
= 583,544
< 272,320
Al 116,709
OZO0H0L S S WAL 160,209, 000& 160,209
= 96,125
< 44,859
Al 19,225
DY MM NI (2ESRER AHHL2 6,575,002 6,331,008 243,994
HIXI&)<E x>
= 3,945,000
< 1,841,001
Al 789,001
301 L2 A F 6,575,002 6,331,008 243,994
= 3,945,000
< 1,841,001
Al 789,001
01 MEIBEE 253 6,575,002 6,331,008 243,994
O2X WA XI& 1,313,134,000& 1,313,134
= 787,880
< 367,678
Al 157,576
OuMZREZNMLH s K&
4,074,510,000& 4,074,510
= 2,444,706
< 1,140,863
Al 488,941
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2N
X ZH -
L= B

el

Off &t 24

=
i

2

= N W

1,187,358
712,414
332,460
142,484

H 2

B o
A\

= W

420,884

252,530
117,847
50,507

484,786

A 63,902

301

1o
3
H
0z
oy

= W

420,884
252,530
117,847

50,507

484,786

A 63,902

01 A28 H =0dl=

OuMm=H X& 194,112,000&

Oxgadgt X& 209,078,000&

il

OsHELT HelHEold XI& 17,694,000&

P

= MW = HmnH

=z N H

420,884

194,112
116,466
54,352
23,294
209,078
125,446
58,542
25,090
17,694
10,618
4,953
2,123

484,786

A 63,902

=]
-

SO0t U N FHI X A<EE>

35,274

10,582
24,692

35,274

307 glztol &

H

Al

35,274
10,582
24,692

35,274

10 M SXNANEEE2SHEX

20t dd U=t

35,274,000

= M

35,274
35,274

10,582
24,692

35,274

H

8,416,732
2,472,376
591,258
978,883
4,374,215

8,214,494

202,238

255,700

234,040

21,660

3,280

3,420

A 140

-0tz 2

otssXaodEs

70,0003 x8H *43]

x A
o9

3,280
3,280

2,240

3,420

A 140
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FMN: HEdESMEFRD
o 2R 05 L SMTA(MASX/2S - HSL0Y)
& ots=EX A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
“OFSEAANE BAK 15 SA+D
130,000 »2H x43| 1,040
301 et 8= 111,220 111,220 0
01 MI2EZE 6= 5,700 5,700 0
OOISSX AL (HBNSR, IES) 9IS
20,0003 x95%H +33| 5,700
0B A =R RAB A4S 101,640 101,640 0
OMIIE223 SAHI
7,000 «55&H 222 «12& 101,640
09 SALAHIEA S 3,880 3,880 0
OOS=XNAIE SAL & OSSN RA RS
i 60,0003 x2H 2 «33] 720
OOts=EXIAIE AL 312 4T S4
7,000& x60H *23| 840
OOtS?I® 2o B4 a2
20,0003 x58F +23| 2,320
307 glz2tol & 141,200 119,400 21,800
10 AL SXAIEEE2EH EX 116,400 114,600 1,800
Odeifsad SgLtey] 6,000,000& 6,000
OXNY0otsdEH SAA M<RHAH
100,000 x62H «12& 74,400
OXgotsHH &l XI& 600,000 «60H 2 36,000
11T ALS S XAEE = 24,800 4,800 20,000
oolgus Heol 2std==Hd  1,800,000& 1,800
Oogold J18 SLetofelol HeEd & Ard
Chal 3,000,000& 3,000
OXdotsdE A= 2E XA 20,000,000 20,000
OIS YFAL 2YX <R E> 1,324,778 1,215,029 109,749
= 92,734
Al 1,232,044
307 21201 A 1,324,778 1,215,029 109,749
< 92,734
Al 1,232,044
10 ALSISXAIEEER2IHEX 1,324,778 1,215,029 109,749
OtsL=EAE 2EXA 1,324,778,000& 1,324,778
< 92,734
Al 1,232,044
OtsLEAESAR=EH<EX> 59,400 49,200 10,200
< 11,880
Al 47,520
307 gl2tol & 59,400 49,200 10,200
< 11,880
Al 47,520
10 AL SXAIEEE 2 H EX 59,400 49,200 10,200

_42_




SRAR
X ZH -
L= B

=E

L
O H

o 10
"

MR (ABEX/ES - O

H 2
o o ox
Ju
o

T

I

e

(=)

0x

= H

=
=)

= _ = s
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
OOSL=AE SAL =& &
59,400,000& 59,400
= 11,880
Al 47,520
OtsZSAE S22 08294 XNJ<E D> 25,000 20,000 5,000
< 7,500
Al 17,500
307 glztol & 25,000 20,000 5,000
= 7,500
Al 17,500
10 A SAAIEHIS2SHIEX 25,000 20,000 5,000
OOELSAL SsT2IA2HY 1a
25,000,000& 25,000
S 7,500
Al 17,500
OlSZSAlE 2HAHl XE<EX> 12,122 12,122 0
& 3,637
Al 8,485
307 212t01 & 12,122 12,122 0
= 3,637
Al 8,485
10 A SAAIEHISSHIEX 12,122 12,122 0
OO0ts2=E A4 2tAH X 12,122,000& 12,122
= 3,637
Al 8,485
AN&0tS otAH =& BI<E x> 5,600 5,600 0
= 1,680
Al 3,920
307 glztol & 5,600 5,600 0
< 1,680
Al 3,920
A S XA E X 5,600 5,600 0
OAZ0tsS otH =&l X& 5,600,000& 5,600
< 1,680
Al 3,920
AE0ts W=HIXJ<E x> 7,500 7,500 0
S 1,500
Al 6,000
307 212t0l & 7,500 7,500 0
= 1,500
Al 6,000
M ASIMSER 7,500 7,500 0
OA&0ts W=dl XI& 7,500,000& 7,500
T 1,500
Al 6,000
ANEOtS WS BI<E X£> 4,000 4,000 0
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SN HEBMESD
HH: 28015 ¥ BU4FA(MIASK/E2S - HSLHY)
Sel: oS =X X
s _ o {ER-
2N -3 -2 (SH) - NHEMY - BES Off &F o4 %'&Q‘H
= T,200
Al 2,800
307 8I2t0| & 4,000 4,000
= 1,200
Al 2,800
1 ABIZ XA 2 5 4,000 4,000
ONSOIE REXMWH X 4,000,000 4,000
< 1,200
Al 2,800
NEOIS IS DEHI<EE> 3,000 3,000
= 900
Al 2,100
307 ©I2+0| & 3,000 3,000
= 900
Al 2,100
11 ABI=Z XA 8 5 3,000 3,000
ON&OIS JIsnsH X2 3,000,000 3,000
= 900
Al 2,100
NEOIS AB T HI<2 E> 1,600 1,600
< 480
Al 1,120
307 8I2t0| & 1,600 1,600
< 480
Al 1,120
1 ASIZXAS R 1,600 1,600
ON&OIE AZ2H X 1,600,000 1,600
= 480
Al 1,120
NEOIS M4 B2iHIcEX> 17,520 17,520
= 5,256
Al 12,264
307 QI2+0I & 17,520 17,520
= 5,256
Al 12,264
11 ABIZ XA 2 5 17,520 17,520
ON&OIS szelt N 17,520,0002 17,520
< 5,256
Al 12,264
NEOIS 43 Of tl<2 x> 3,250 3,250
= 975
Al 2,275
307 ©I2+0| & 3,250 3,250
= 975
Al 2,275
11 ABI=Z XA 8 5 3,250 3,250
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FMN: HEdESMEFRD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
Sel: OtSEX S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAlZ0ts =stoiaidl X 3,250,000& 3,250
< 975
Al 2,275
NEOIS ZX 24l 2 FH<BE> 3,930 3,930 0
< 1,200
Al 2,730
307 21201 A 3,930 3,930 0
< 1,200
Al 2,730
10 ALSISEXAIEEE2EHEX 3,930 3,930 0
OAN&OIS =X 2AH 2 2FH N
3,930,000& 3,930
< 1,200
Al 2,730
EA0tE AEFEAS<EXR> 35,000 35,000 0
< 10,500
Al 24,500
307 glz2+ol & 35,000 35,000 0
< 10,500
Al 24,500
10 ALSISXAIEEE2EHEX 35,000 35,000 0
Ea0ts AHEEEHS N 35,000,000 35,000
< 10,500
Al 24,500
FHAHNSOHS N E<E > 53,400 36,600 16,800
< 13,020
Al 40,380
301 Lete &3 53,400 36,600 16,800
< 13,020
Al 40,380
01 MI28E +06l= 53,400 36,600 16,800
O 20ts tetsts 30,000,000& 30,000
< 7,284
Al 22,716
OAEAHIE & JIERAEOISLEUZ &
A& 14,400, 000& 14,400
< 3,530
Al 10,870
O2EAHIMNE & IHELE0S WSl
9,000,000& 9,000
< 2,206
Al 6,794
OISEEXRANH NASHB 2T (OSSR 203,230 138,896 64,334
X )<E x>
= 117,572
= 15,116
Al 70,542
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SN HAEMESD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
& ots=EX A (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 203,230 138,896 64,334
= 117,572
< 15,116
Al 70,542
01 MEI2EZE %06z 203,230 138,896 64,334
OOtsZLERAAE XA 203,230,000& 203,230
= 117,572
= 15,116
Al 70,542
LESHsSAEE2INIBE> 213,066 173,032 40,034
J| 85,226
< 38,352
Al 89,488
307 21201 A 213,066 173,032 40,034
J| 85,226
< 38,352
Al 89,488
OMIETANEHE2IHIES 213,066 173,032 40,034
OEslitslssE 2gX& 213,066,000 213,066
J| 85,226
< 38,352
Al 89,488
NEtsEsd20|22Y NAA<EX> 545,524 435,896 109,628
J| 247,966
< 74,389
Al 223,169
307 21201 A 545,524 435,896 109,628
J| 247,966
< 74,389
Al 223,169
10 AL SXNAIEEE2EH EX 545,524 435,896 109,628
OXgotsEsdEZIl2 2L
545,524,000 545,524
J| 247,966
= 74,389
Al 223,169
NEOSES 2|2 SAA =E<EX> 31,200 26,400 4,800
< 6,240
Al 24,960
307 21201 A 31,200 26,400 4,800
= 6,240
Al 24,960
10 ALl SXAIEEE2EH EX 31,200 26,400 4,800
OXNYOIsSESHEINZ BAX =&
31,200,000 31,200
< 6,240
Al 24,960
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FMN: HEdESMEFRD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
& ots=EX A (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
SiIciOlS & H S, 2], Ar HI (S THIII G OF = 132,215 126,470 5,745
HH2E)<E=x>
| 52,886
< 23,799
Al 55,530
307 21201 A 132,215 126,470 5,745
| 52,886
< 23,799
Al 55,530
10 ALSISXAIEEE2GHEX 132,215 126,470 5,745
OgHuoiotsadeH2 S XA 132,215,000& 132,215
| 52,886
< 23,799
Al 55,530
QA0S IE X JA<E > 293,115 315,554 AN 22,439
| 205,180
< 26,381
Al 61,554
301 gt 4= 293,115 315,554 A 22,439
J| 205,180
< 26,381
Al 61,554
01 MI28E 6= 293,115 315,554 AN 22,439
Ogdots x4 XA 256,561,000 256,561
| 179,644
< 23,065
Al 53,852
OHlols YLLFEXSF 12,654,000& 12,654
| 8,858
< 1,139
Al 2,657
Ogd=eldi2t 2RA 8,556,000& 8,556
| 5,937
< 796
Al 1,823
ogaddlE K& 15,344,000& 15,344
| 10,741
< 1,381
Al 3,222
QA0ts =0tz XN A<EL> 8,000 15,000 A7,000
= 2,400
Al 5,600
301 L2 A3 8,000 15,000 A7,000
< 2,400
Al 5,600
01 MI28HE 6= 8,000 15,000 A7,000
Ogeots=dta XA 8,000,000& 8,000
< 2,400
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FMN: HEdESMEFRD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
Sel: OtSEX S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 5,600
AL INEAE S EIXNZ XN A<ER> 3,234 940 2,294
= 2,264
< 291
Al 679
301 et d = 3,234 940 2,294
= 2,264
< 291
Al 679
01 MI2EZE 06z 3,234 940 2,294
Oge Jtd=Eots MelXIgX | (A ?IEXl
2 29) 3,234,000 3,234
= 2,264
< 291
Al 679
NHEAS LS A<E > 214,200 243,000 228,800
< 21,420
Al 192,780
301 gt 4= 214,200 243,000 A 28,800
< 21,420
Al 192,780
01 MI2EZE 06z 214,200 243,000 A 28,800
Ot 214,200,000 214,200
< 21,420
Al 192,780
A2EAHINE X A<E 2> 1,800 1,800 0
< 180
Al 1,620
301 et A= 1,800 1,800 0
< 180
Al 1,620
01 M3IBZE 2053 1,800 1,800 0
OAEAHINEXA 1,800,000 1,800
< 180
Al 1,620
Helolg 2&X A X 30,000 30,000 0
307 21201 A 30,000 30,000 0
11T M3 SXAISEEX 30,000 30,000 0
Oogolg J18 2&XI @A 30,000,000& 30,000
NS SHAEE SgAtdl el N (EZAEEMY) 484,747 515,897 A 31,150
<8 x>
= 300,000
Al 184,747
101 124l 238,997 234,227 4,770
= 133,046
Al 105,951

_48_




2N
X ZH -
L= B

el

BE .G (3) - MM - BES il
04 JIZHHZ2XREES 238,997
OSYAEE pZtMS0= 238,997
=22 1,850,000 x7H x12& 155,400
- 88,800
Al 66,600
“AZERA2 R 13,1242 «7H «15A1 2t 123 16,537
= 9,450
Al 7,087
-AHEE JI2RE3 155,400,000& *11.5% 17,871
= 10,212
Al 7,659
HOFE &Y 55,0002 x7H »x7 2,695
-2 F Ol 500,000& +7H +23| 7,000
HEZ=TH 20,0003 x7H*10L x12& 16,800
= 9,600
Al 7,200
A0 60,0003 +7H 32 43| 5,040
= 2,880
Al 2,160
HEg3 1,850, 000& »7H 12,950
= 7,400
Al 5,550
224 =4 7,000 +7H 8L 128 4,704
= 4,704
=l 161,790
- 109, 124
Al 52,666
2l i 121,654
gt~ E 4| 116,420
AEBE 2934 10,000, 000& 10,000
= 7,500
Al 2,500
A Y s28 M
3,000& *1,0005 *23] 6,000
= 4,500
Al 1,500
ZT2OY 29| 99,000, 000& 99,000
= 68,266
Al 30,734
—CEAEE HAMAAEH X 22|
1,420,000& 1,420
= 610
Al 810
=g 1,970
—2gSIRE AR By
70,0003 x11&8 %13 770
= 660
Al 110
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A HEaSMEFD
HE: 25015 U BMFA(MISN/2S - HELNHY)
e OIsSEX X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
-AHHIE &L SEAAE S & Z2AIEE
100,000& x1¥ x123] 1,200
2 900
Al 300
O5. 24| 1,680
—CEAEE GRF& AAAZ R =4
7,000 x2EHx10L x 128 1,680
O6.Y X = 1,584
-2 A X} 132,000 x12& 1,584
= 1,188
Al 396
02 23244 15,136 18,136 A 3,000
O1.2Z22=22L Al 7,000
-C2AEE 222 S 7,000,000& 7,000
= 6.000
Al 1,000
O3. Al & &H|l S XYl 3,500
-C2AEIE AN&ESX &2l 3,500,000& 3,500
O4. XA e 4,636
AAHssW, MU KNLH S
4,636,000 ~1CH 4,636
2 2,000
Al 2,636
03 A2 G H| 25,000 30,000 A5,000
O=stMegses 25,000,000 25,000
=2 17,500
Al 7,500
202 04d| 1,920 1,920 0
01 2Ll 1,920 1,920 0
OEYAEE H22FX0YI|
20,000& 2H 4L % 123] 1,920
301 et A= 80,840 96,680 A 15,840
= 56,630
Al 24,210
01 Al B & A 462 80,000 95,000 A 15,000
CEAEE XS HHAYE =&
80,000,000 80,000
= 56,000
Al 24,000
09 HAIAHI BEAZ 840 1,680 N840
OXNEESAIA s, 2A 2dls s 24X 3
Al 7,000&*x10Y¥ x123] 840
= 630
Al 210
405 XHAHFEI S HI 1,200 0 1,200
= 1,200
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2N
X ZH -
L= B

el

H 2
o o ox
Jro-
o
on HT
(u} _UO
=
T

= H

=
=)

MR (ABEX/ES - O

M
e
2
0x

= A

BB () - HRAY

ESS

Off &t 24

=

i
2

[u]

01

>

Fat

n

sl

O I o x
=7

bl

O
in
Im
A

1,200,000 «1CH

H

1,200

1,200
1,200

S

NS0otsdE 288 XE<E x>

i

= W

3,034,212
1,517,106

455,131
1,061,975

2,995,

788

38,424

307 glztol &

= H W

3,034,212
1,517,106

455,131
1,061,975

2,995,

788

38,424

10 A SIAEHE2SH

OXZEotsdH 28X

22X

iy

3,034,212,000&

= HN W

3,034,212
3,034,212

1,517,106
455,131
1,061,975

2,995,

788

38,424

XNAotsSHEH SALR =Z<EX>

= M

204,960

40,992
163,968

,000

A5,040

307 gl2tol &

t

Al

204,960

40,992
163,968

,000

25,040

10 Al S XA 2 HE 2 S

OXSotsSHE SAHAH

(UL

b oI

204,960,000&

= M

204,960

204,960

40,992
163,968

,000

A5,040

= M W

483,840
241,920

72,576
169,344

483,

840

= M W

483,840
241,920

72,576
169,344

483,

840

04 DIt 22 XS+
OO0tS =Xl AHIHA K &

483,840,000&

= N W

483,840

483,840
241,920

72,576
169,344

483,

840

ANEOtsSHHSESIZZ2 DR A<ER>

= H

10,000

3,000
7,000

,000

307 glztol &

Al

10,000

3,000
7,000

,000

10 A SANAIEHES2SHIEX

10,000

,000




FMN: HEdESMEFRD
H: B8 - 0ts 2 SUETH(MI=EX/ES - HELAHE)
& ots=EX A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXgotsdH stsZ2 1S
10,000, 000& 10,000
= 3,000
Al 7,000
ANE2eBHEES(SAMSE) 297,561 348,142 A 50,581
309 ME=2 297,161 340,242 A 43,081
01 SAL- SHINTES 297,161 340,242 A 43,081
OAld2te|ZE OOl =O0tE2ett ZaNES
297,161,000 297,161
404 SASHIHEHMES 400 7,900 A7,500
01 SAt- 28 E= 400 7,900 A7,500
OAMAZelSE OLOIEZOLEeR (HE2NES
400,000& 400
IIEREESEZ0NSAHEZASNA<ER> 27,000 0 27,000
< 8,100
Al 18,900
301 et A3z 27,000 0 27,000
< 8,100
Al 18,900
01 MI28E +06l= 27,000 0 27,000
OJEeEEs Z20sHEg3ESXE
27,000,000& 27,000
< 8,100
Al 18,900
MASH (I[N ZMEEH)<KEX> 250,000 250,000 0
= 225,000
< 17,500
Al 7,500
301 et a3z 250,000 250,000 0
= 225,000
< 17,500
Al 7,500
01 AR 2Z A5 3 250,000 250,000 0
OOtsLSAE =5k H4AS0H K&
250,000,000 250,000
= 225,000
< 17,500
Al 7,500
EQRINI(XNASHHZ2 I XY )<EE> 74,820 156,600 A 81,780
= 37,410
< 11,223
Al 26,187
307 21201 A 74,820 156,600 A 81,780
= 37,410
< 11,223
Al 26,187
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FMN: HEdESMEFRD
M 2% 015 U SUZA(MISN/2S - HELHE)
Sel: OtSEX S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 74,820 156,600 A 81,780
OXNY0tsdH ERQ2IAA 74,820,000 74,820
= 37,410
< 11,223
Al 26,187
E+SHEXNJ (NG SHEH 2GR )<E D> 62,208 85,248 223,040
= 31,104
< 9,331
Al 21,773
307 21201 A 62,208 85,248 A 23,040
= 31,104
< 9,331
Al 21,773
10 ALSISXAIEEE2GHEX 62,208 85,248 A 23,040
OXdotsdH E+==8EX&  62,208,000& 62,208
= 31,104
< 9,331
Al 21,773
HE2AIH (WL ESMESD)(IIEH/IIE) 86,168 90,958 24,790
Jl2&dl 86,168 90,958 24,790
FN2SH 9,368 12,848 A 3,480
201 2et24d] 9,368 12,848 A 3,480
01 At 22l 8,888 12,368 A 3,480
ORN2Y LE==EH| 4,110,000& 4,110
ORAM2YE St 1,610,000& 1,610
O=A2 & xt 132,000& »2CH 128 3,168
02 =224l 480 480 0
ORNM2YE 8323 480,000& 480
AR FE N 72,600 71,510 1,090
202 044l 72,600 71,510 1,090
01 = LH o4 1l 72,600 71,510 1,090
OFYSFAAHE 20,0008 22F«13L 122 68,640
O =02 Kbl
20,0003 x22H x32 «38 3,960
SR FAH 4,200 6,600 A 2,400
203 YR =2l 4,200 6,600 A 2,400
04 NI AL 4,200 6,600 A 2,400
ORN2IILFAH(ZR:23Y)
350,000& 128 4,200
NS (HEsME2s0)(MISX/ES - IHEL0HY) 3,546 3,600 AB4
WENHN XI= 3,546 3,600 AB4
SINEEEZ(A=E) 3,546 3,600 AB4
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AN GESOESY

HH: WHRES(OHEs0ES) (MI=EX/ES - HELAHY)

@2 WeEAHH XS (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
701 JIEISI HSHEZ 3,546 3,600 NbB4
02 BIIEELEIHIAANEEZ 3,546 3,600 AbB4
OWAEXNAEALTT e 2HZ XS
1,440,000 1,440

2,106,000& 2,106
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